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B.Com. (Part - II) Examination,
Mar.-Apr., 2023

Compulsory Group - i
Paper : |

COST ACCOUNT
Time Allowed : Three Hours
Maximum Mafks : 75

Minimum Pass Marks :@ 25 |
G o e B AR v b g T
Note : Answer all questions. AII questions carry equal
marks.
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Q. 1. omm ¥ Far sfemg @ ona & fife o @
vy & aoie el
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What do you understand by term ‘cost’ ? Explain

in short the different elements of cost.
3@/ OR

e o @ Tftie fofids & wRE @
¥ foRee :

16.01.2022 Wit 250 3% NI 312.50 T
22.02.2022 Wi 100 IBE @R 130.00 ?’
15.03.2022 W 50 3BT @I 67.50 ¥

10.04.2022 Frfwa 55 3%

25.04.2022 Wi 50 3HE AN 70.00 3
30.04.2022 ffe= 300 @7

15.06.2022 fiwa 40 3o
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am @1 P 10.04.2022 @1 30.04.2022 B
F9: LIFO @ FIFO 3R w fear mar anl
01.05.2022 ¥ Tg P foar T f6 395 @@
Prif e @1 g0 WRgE a0 & 3R
W A SR

Record the following transactions in the Stores
Ledger Account of Radhika Ltd. :

16.01.‘2022 Receipt 250 units costing ¥ 312.50
22.02.2022 Receipt 100 units costing T 130.00
15.03.2022 Receipt 50 units costing ¥ 67.50

10.04.2022 Issue 55 units

25.04.2022 Receipt 50 units costing ¥ 70.00
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30.04.2022 Issue 300 units |

15.05.2022 Issue 40 units

The issues on 10.04.2022 and 30.04.2022

were priced at LIFO and FIFO basis respectively, |

As from 01.05.2022 it was decided to price the |

issue at Weighted Average Price.

wré—ﬁ / UNIT-IT
HE WUET R AWERA| G o qun gt
T3 T W WUH PREW A SREFT Rl
Explain the term Machine Hour Rate. Give its

merits and demerits. Critically examine its
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suitability for absorption of factory overheads in a
labour intensive factory.
arerar / OR

e R eREM § ' o & foe wmm W
16 uve & 3R go waigdr T 10 wfy wver &1 ve Amw
A5 wfta & 1§ & aifs sfiet o arafds sm
f&d ooct & fore ama Aol 3R sy ge avel
F I F |RR I A q®) |

si-ord & R wwd @ avE T 200 & 3R
BREMAT JuRexa X 20 it 59 wver @1 #ogd 3R
maﬁnﬁwmammqﬁwm

(3 12 Gvg ¥, (¥) 14 ¥ F gx1 Qe B
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Wma;qummahmm

s ) ol aFge N R T Qe
AT B Fa WGl @ e fean ot @
Tl @1 R W S Bl
In an Engineering works the standard time.for a
job is 16 hours and basic wages is ¥ 10 per hour.
A bonus scheme is instituted so that the worker
is to receive his normal wages for hours actually
worked and bonus @ one-half for the hours
saved. Materials for job cost is ¥ 200 and the
¢

factory overhead is charged on the basis of ¥ 20

per labour hour.

@)

Calculate the wages and the effective rate
of earnings per hour if the job is completed (a) in
12 hours, or (b) in 14 hours.

Also tabulate the factory cost of the job on
the basis of above data and also find out the
difference in wages if he is paid according to
Rowan Premium Plan.

$oE-11I / UNIT-III
v fefiits ¥ A JeR & SR (@ awg) S st
o7 US 3w wa R s sER m 36 o,
90 T T 54 T el B T N B g B

S aet ww B e a1 10% Fwior i ¥ e
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& o & ot sy 35 9 3 S B A B 259

12,000 T, 31,500 T @A 16,500 T2l

4ot e s 1 e o et o
# o @ 1,200 T, 1,000 T @ 900 I A :
FREM JRed Yaw FH o 30% e &,
Faamva’maqﬁmummamaﬂzo%?
m?lf‘aamgaﬁqzzs%msﬁam_th

IGF OB F MR R A FBR B g
Eﬁwﬁmﬁ?@w%&mmwaﬂ‘

srraaﬁ%ml.

(9)

Pratap Limited had received an order for the
supply of three different types of casting
weighing respectively 36, 90 and 54 Tonnes, 10%
of the raw materials used is wasted in
manufacturing and sold as scrap for 25% of its
cost. The cost of raw materials is ¥ 500 per
tonne.

The wages for three types of castings
amount to ¥ 12,000, ¥ 31,500 and X 16,500
respectively. The costs of the mould for three
different types of castings are ¥ 1,200, ¥ 1,000
and X 900 respectively. Factory overheads are to

NJ-1205 P.T.O.
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30% of Wages and Selling,

pe charged at
' Distinguish between Job Costing and Contract

on and administrative overhead at 20%

distributi
Costing. Can Contract Costing be applied in a

of Works Cost. It is desired to earn a profit of
factory ? State the special features of Contract

o . :
25% on selling price. Costing.

Ascertain the price to be quoted for the sTE-IV | UNIT-IV

supply of these different types of castings on the Q4 N T N G THS a4 @RI & g T

basis of the above information. Fraferiaa &
1@ | OR 3
g @ma SR 3R @1 e HeRer # 3R s 12,000
aae| @ 3% A fufor [ v sRER # HH 8,000
yge @ o1 G & d@ awE oo i & R 5,000
% 25,000

faom @eolt @1 avfa 5wl
NJ-1205 TRad sfbaied & @ e TeR @
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z 3 E4 3 Subsequent processing costs are as under :
1500 1,000 1,200 A B Cc
™ 1,000 800 600 T 2 T
:;m 500 200 200 Materials 1500 1000 1,200
300 2000 Z_'OE_— Labour 1,000 800 600
o Rl ;0_;0_0_ 15000 8,000 Overheads 500 200 ' 200

R R st ey X% 2% % 3000 2000 2,000

ﬂgﬁmﬁ%aﬁm&ﬁ’ﬂwuﬁmm

Total sales 20000 15000 8,000
v 3Ewgs @ FRel

The joint expenses of three products A, B and C

Estimated profit on sales  30% 20% 25%

Prepare statement of apportionment of joint cost

are as follows :
and necessary accounts.

£4
Ju4ar/ OR

Materials 12,000

Labo 8,000 wRaeH ama /iftr ¥ s e €2 oo aaEE

abour ’

Overheads 5,000 RO T 1T oIS el died dAR B

< 25,000 uasw’{ o W @ I
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ing' ? Prepare
What is meant by 'Operating Costing p
at is

. . N a

i i included in
figures and discuss the various items incl

goi-V / UNIT-V
Uasmﬁ‘fa‘fammaq‘fﬁmooag,ooosasdi
& fma @ & @ A 10,000 T B EH T
10,000 ¥ @1 @™ 3k & 2l
R B :
() W and
(i) wn-foede &g fawa sowal
(i) 40,000 T B oW 3T T &G D B

soIEal
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A company sold in two successive years 7,000
and 9,000 units and has incurred a loss of ¥
10,000 and earneq a proft to ¥ 10,000
respectively.
Calculate :
() The amount of fixed cost
(i)  The number of units to Break-even
(if) The number of units to eam profit of

¥ 40,000

Jyar/ OR

TP ¥ 3 T E s R

T E? g Al B v T

What do you understand by 'Integrated Accounts'
and what are the principles involved ? State the

advantages of Integrated Accounts.

2,600
NJ-1205




{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

